
Answer on Question#78945 - Physics - Astronomy - Astrophysics 

If a satellite collects the rate of unforeseen intergenerative dust ((dM)/(dt))=av in the free 

interiors, then the satellite will accelerate. 
Solution: 

Dust creates the net force 𝐹 given by: 
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𝑝0 – initial momentum of the satellite (before encountering dust). 
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where 𝑀0 – initial mass of the satellite. 

Substituting this and 
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Thus the acceleration: 



𝑑𝑣

𝑑𝑡
= −

𝑎𝑝0𝑣0

𝑀0
2

(1 +
2𝑎𝑝0𝑡

𝑀0
2 )

3/2
 

Answer: acceleration: −

𝑎𝑝0𝑣0

𝑀0
2

(1+
2𝑎𝑝0𝑡

𝑀0
2 )

3/2 . 

Answer provided by https://www.AssignmentExpert.com 

https://www.assignmentexpert.com/

